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1. In the drawing, the circle represents the cross-section of a wire carrying
conventional (+) current away from you. Draw a larger circle around it p‘;;
and put an arrow on it to show the direction of the magnetic field.

2. The arrows represent a magnetic field. A current-carrying wire

crosses the field as shown. In which direction is the force on the e ; E l N l
-

1and

wire? &
a. no force b. towards N P
c. towards S d. to the left =
d. to the right e. out of the paper ExR
f. into the paper

3. Find the magnitude of the force of 1=6.38A, /=2.08cm, B =

0.50 N/A*m (or Tesla [T]). _5
R sl -suheshnd oceb)- =

4. In the loop shown, the magnetic field inside the loop points
D a. toward the top of the page

d I
b. toward the bottom of the page 'I‘l
c. out of the page L
d. into the page Biaside
_ e Ao X
e. to the left T o

f. to the right , Bt 3
z D1 S1 84

5. Use the same answers as in number 4 to describe the direction of

the field outside the loop:__ ¢ .
6. Calculate the magnitude of the force on a proton moving at h 8 x X
8.00*10"m/s across a magnetic field of 1.80 T.
F'-'?/u =\ (X\D € - @xW0m/ - 1L BT =
7. The proton above is moving as shown across a magnetic field X X\, + X
pointing into the paper. Use the answers to 4 to describe the . l P

direction of the force on the proton _&. .

8. In cach case, indicate the direction of the force on the object. Use

the answers: ‘ S
a. Toward A b. Toward B
c: I)O\var? C d. il'ow:lrd D p+ SE W R
e. Out of paper e. Into paper e e
A= 0
P 8. The proton (p*) A AN K
A 5 A N A W
A 8Db The a** particle X XXX
A__ 8.c The f particle f gt
¢y 8.d The wire carrying electrons from x to y.
(Remember a** stands for a Helium nucleus, B~ for an electron)
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space shown. The arrow represents a typical ion of

9. The North and South pole of a magnet make B fill in the — p
I[ R T P —-’\.
d

F s
(+;L)Aher\ llium entering the ficld. The force on the 10n 1s directe ;_,,.: }}
up the page Xy - . |
h. down the page P 1‘4’3“3"—"'
c. toward the circuit & N
d. away from the circuit j—\d \o=—

out of the page

@ into the page

10. In (9.) above, if ‘€’ represents a battery, which ends is positive?
a. the side toward R corled 6, o

(5> The other side \[

Be prepared to c\plam your answer (consider the circuit to be the ‘cause’ of the magnet.)
crrent df’-@“*(; v CD'»'?MJ rise. fo dwnde'QaZ enclosed field (@5 shown on DJE?mm/f’ RH.R
0

11.0ne coulomb of charge nfoves across a 100 V battery. How much work is done?
Ww=-a€& :ZV: GC_)(fm/c) <l fOOT!
> s = :::’; 5Q
12.How much current moves through the circuit? e T |!
Y = /f’
R o) ” @J
M= el
13.The voltage drop across the 152 resistor 15
VIR = (0.50)(15%) = 75«/ P=\*R=(54)" (ﬁ-)
/ T .
Vhat is the 2 e et e , g 5Q

15.What 1s the total equivalence resistance in the circuit? e /40..@"%04)* 5

4. The power dhslp’lted bv the 58 resistor is[ 7-25w |
.fr Zon FSn =25

16.How much curu.nt ﬂ()wa through the battery?

ﬁ Y sz A4
17. I]ow much current ﬂnwh through the 3()52 LCSIStOL? Tiviee 05 moch as 14 (OR?

DFiad ViejRe 24 Zoas oy Then lss= B/, = Qo/f 34] (leavt :ua%r(m)

18.1f the current in a wire 1s coming out of the center of a cloc tﬁ, magnetic field is {1) clockwise
ounterclockwise (3) also out of the clock

YYYy|,

19.1f the current in the last problem is doubled, the magnetic field at any point around the wire is
(1) the samcl (3)quadrupled (4)the factor depends on where you are

20. Which path 1s the beam most likely to take?
I )

| North | A
/ D toward you

P

protons
\f / \ i Emln[ E
Soulhl
; ; . ; YHett ;
21. If the proton beam in #20 is replaced with alpha particles 2 of the same speed, will the
beam be deflected more or less? S

;QZ_ Twite Hu Fora (Tm‘rx, e chw}g)
¢ mmass
27

= o
7 G =y





